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 AAIB Bulletin: 7/2016 G-BYBE EW/G2016/02/07

ACCIDENT

Aircraft Type and Registration:  Jodel D120A, G-BYBE

No & Type of Engines:  1 Continental Motors Corp C90-14F piston 
engine

Year of Manufacture:  1964 (Serial no: 269) 

Date & Time (UTC):  10 February 2016 at 1310 hrs

Location:  Shobdon Airfield, Herefordshire

Type of Flight:  Private 

Persons on Board: Crew - 1 Passengers - 1

Injuries: Crew - None Passengers - None

Nature of Damage:  Tailwheel detached and damage to right 
mainwheel attachment

Commander’s Licence:  Private Pilot’s Licence

Commander’s Age:  66 years

Commander’s Flying Experience:  1,150 hours (of which 2 were on type)
 Last 90 days - 11 hours
 Last 28 days -   4 hours

Information Source:  Aircraft Accident Report Form submitted by the 
pilot

The aircraft was lined up for a departure from Runway 27 (paved) with the wind from the 
north-west at 10 to 12 kt.  The takeoff weight was 624 kg and the maximum takeoff weight 
was 650 kg.  The pilot applied full throttle and the aircraft accelerated normally.  He raised 
the tail and although he did not note the airspeed or engine rpm, all appeared normal to him 
from previous training flights.  The pilot reported that the aircraft lifted off as normal and he 
kept it low to increase airspeed.  About one-third along the runway the aircraft “wobbled” 
and the left wing dipped, which he raised with aileron and rudder control inputs.  The pilot’s 
impression was that he was slow and he recalled trying to push the throttle hard forward 
but finding it already hard forward.  The left wing dipped again, so at between 5 and 10 ft 
above the runway with the aircraft drifting to the left, he decided to abort the takeoff.  The 
aircraft landed heavily in a three-point attitude and departed the left side of the runway.  
The aircraft continued across a rough tarmac surface, where the tailwheel was later found, 
traversed a grass microlight strip and then entered a field of kale where it came to rest.  The 
pilot shut down the aircraft and both he and his passenger exited via the left and right doors 
respectively.

The pilot assessed the accident was caused by insufficient airspeed, a quartering crosswind 
and a stall.


